Multi-Step Rocket Problem

Tuesday, September 26, 2023

3 stages - Ax and Ay used to keep running total
10:59 AM - Burnstage
o Find v¢y and vf,, (no x equation)

" Will become vy, and vy, next stage
o Find Ax and Ay (no t equation)

- Drop stage
!A}d o Find maximum height (no t equation)

o Subtract given vertical distance for Ays
Vox o Find t taken to reach Ayy (no v equation)

o Find Ax (constant v equation)
- Parachute stage
%

o Find t takentoreachy =0

o Find Ax (constant v equation)
Find total Ax (add all 3 Ax values)

- Positive is east, negative is west
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